# Estimated Costs for Registered Nursing Program

### Traditional Entry starting 2024

Please note that these are estimated costs and are subject to change.

## Fall Term, Year 1

Items	Cost per Student	Comments
Tuition @ \$149 per lecture credit x7	\$1043	
Tuition @ \$380 per clinical credit x5	\$1900	
Tech/Facility fees @ \$17/credit x 12	\$204	
Student ID per term	\$ 5	
Student Gov't @\$2.50/credit x 12	\$30	
RN Skills Pack	\$80	Financial Aid
Scrubs, jacket, shoes	\$150 - \$200	One-time purchase
(Burgundy/gray, closed toe & heel)		
Digital books/products (used throughout the entire program)	\$1454.79	Financial Aid
ATI products (learning resources used throughout program)	\$2,775	Financial Aid
Watch with sweep second hand	\$50	One-time purchase
Clinical Fee (attached to clinicals)	\$200	
	Total for Fall Term, Year 1	\$ 7941.79

## Winter Term, Year 1

Items	Cost per Student	Comments
Tuition @ \$149 per lecture credit x8 Tuition @ \$380 per clinical credit x4	\$1192 \$1520	
Tech/Facility fees @ \$17/credit x 12	\$204	
Student ID per term Student Gov't @\$2.50/credit x 12	\$ 5 \$30	
Clinical Fee (attached to clinicals)	\$200	
	Total for Winter Term, Year 1	\$3151

# Spring Term, Year 1

Items	Cost per Student	Comments
Tuition @ \$149 per lecture credit x8 Tuition @ \$380 per clinical credit x4	\$1192 \$1520	
Tech/Facility fees @ \$17/credit x 12	\$204	
Student ID per term Student Gov't @\$2.50/credit x 12	\$ 5 \$30	
Clinical Fee (attached to clinicals)	\$200	
	Total for Spring Term, Year 1	\$3151

## Fall Term, Year 2

Items	Cost per Student	Comments
Tuition @ \$149 per lecture credit x7 Tuition @ \$380 per clinical credit x5	\$1043 \$1900	
Tech/Facility fees @ \$17/credit x 12	\$204	
Student ID per term Student Gov't @\$2.50/credit x 12	\$ 5 \$30	
Clinical Fee (attached to clinicals)	\$200	
	Total for Fall Term, Year 2	\$3382

## Winter Term, Year 2

Items	Cost per Student	Comments
Tuition @ \$149 per lecture credit x7 Tuition @ \$380 per clinical credit x5	\$1043 \$1900	
Tech/Facility fees @ \$17/credit x 12	\$204	
Student ID per term Student Gov't @\$2.50/credit x 12	\$ 5 \$30	
Clinical Fee (attached to clinicals)	\$200	
	Total for Winter Term, Year 2	\$3382

## Spring Term, Year 2

Items	Cost per Student	Comments
Tuition @ \$149 per lecture credit x3 Tuition @ \$380 per clinical credit x9	\$447 \$3420	
Tech/Facility fees @ \$17/credit x 12	\$204	
Student ID per term Student Gov't @\$2.50/credit x 12	\$ 5 \$30	
Clinical Fee (attached to clinicals)	\$200	
	Total for Spring Term, Year 2	\$4306